Chapter 3 (pp 140-163)

February 13, 2017



Homework for February 13, 2017

ARead Chapter 3, pages 1463—Taxes

AWork through example 3.6 and plot figures 3.6 and 3.7.
send plots and programing t@mgavin@mailcom

AFind data on the web for Mexico and the United States
for 1990 to present
A level of real consumption,
A labor supply, wage rate, unemployment rate, and
A the population.

AYou can find Mexican dat a
under the category of international data

ASend data to me in an excel file



FRED M{/ — Private Final Consumption Expenditure in Mexico©
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http://fred.stlouisfed.org/graph/?g=cGOG

FRED MJJ — Gross Domestic Product by Expenditure in Constant Prices: Private Final
Consumption Expenditure for Mexico©
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http://fred.stlouisfed.org/graph/?g=cGOO

FREQ %/J — Real Monthly Earnings: Manufacturing for Mexico©
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http://fred.stlouisfed.org/graph/?g=cGOW

FRED Q/,./‘/ — Unemployment Rate: Aged 15 and Over: All Persons for Mexico©
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FRED M{/ — Active Population: Aged 25-54: All Persons for Mexico©
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Quiz /

1. What is a Laffer Curve?

2. Howdoes a tax on consumption goods affect the
equilibrium for consumption, labor, and utility.

3. Howdoes a tax on labor income affect the
equilibrium for consumption, labor, and utility.



A goods tax and the budget
constraint

Alf you are going to add governmentin
macroeconomic model with microeconomic
foundations

Alf the government raises revenue with a tax, what do
they do with it.

AYou need to take account of the governments budget
constraint. (Today, just one periedlaxes must equal
spending when there is no borrowing and no saving)

AWhat are lumpsum taxes and transfers? What mistake
are we making when we assume lump sum taxes?

AWhat are the budget constraints for HH, firm and
government?



Budget Constraints with a goods
tax

AGovernment?
AHousehold?
AFirm?

ANow set up the model with a goods tax and show
the MRS,



Budget Constraints with a labor
tax

AGovernment?
AHousehold?
AFirm?

ANow set up the problem with a labtax and
computethe MRS,



Quiz /

4. Whichdelivers greater revenue for the

government, a 20% tax on labor income or a 20%
tax on consumption goods.

5. Stateone condition under which the revenue
both taxes will be equal.



Figure 3.6 A 20% tax on goods with
transfer
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Figure 3.7 A 20% tax on goods with
transfer
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Figure 3.12: A 20% tax on labor with
transfer
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Regulations and Implicit Taxes

AExplain how environmental regulations can be like
taxes.

AExplain how banking regulation can be like taxes.
AExplain how medical regulation can be like taxes.

In each case, what happens to the implicit revenue
that is collected.



Moral Hazard

Amoral hazardoccurs when one person can act to reap
benefits while someone else bears the cost of that
action.

A Give examples in the insurance industry

AWhat is the moral hazard that was created when the US
government bailed out Bear Stearns in March 20087

AWhat is the moral hazard associated with
unemployment benefits? Welfare programs in general?



Homework for Feb 15

ARead chapter 4
AReplicate figures 4.1, 4.2, 4.3 and 4.5



